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Note : The question paper has three sections. Attempt the

questions as instructed in each section.

SECTION - 1
Answer any two of the following questions in
about 500 words each.

1. Bring out the heterogenous elements of Indian
society.
2. Write a note on urbanisation and the emergence
* of slums.

3. Discuss the main features of Labour Welfare
measures in India.

4. Discuss the relationship between ethnic identity

and violence.
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SECTION - II

Answer any four from the following questions in
about 250 words each.

What are the social consequences of the use and
abuse of drugs ?

Discuss the national policy of children.

What is the nature of the problem of the aged ?

Bring out the main aspects of social mobility
amongst the scheduled caste.

. . What are wastelands and how are they related

to rural social life ?

Bring out the key indicators of women'’s status.

Discuss the nature of Traditional forest
management systems.

Discuss the labour laws that are meant for women
workers.
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SECTION - 111

Answer any two questions in about 100 words
each. '

What do you understand by the term ‘juvenile 6
delinquency” ?

What do you understand by ‘generation gap’ ? 6
Answer with a suitable example.

What are the differences between the organised 6
and unorganised sector ?

Explain push and pull factors in migration. 6
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